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Exercise

1. If A={1,2},B=(3,4} then show that A x (BN Q) = 0.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zomLRVQ4VP8d

3
2. If cosx = (— E) , X lies in the 3rd Quadrant .

Find the value of : (i) sinx (ii) tanx?

° Watch Video Solution

26
1
3. Evaluate: i2% + (7) .

° Watch Video Solution

4. Find the number of 4 digit numbers that can be
formed using the digits 1,2,3,4,5If no digits is

repeated.

| 1


https://dl.doubtnut.com/l/_Z9tloiGGoAfF
https://dl.doubtnut.com/l/_VTxdIK9ySln0
https://dl.doubtnut.com/l/_gXffAQv17Mh3

| ®J Watch Video Solution

5.Which terms of the GP: 2, 21/2, 4,......... Is 128 ?

° Watch Video Solution

6. Reduce 6z + 3y — 5 = 0 into slope- intercept

form

° Watch Video Solution

7.Find lim |z| — 5.

r—5

| ° Wiakt~h \NNAAA Caliikian



https://dl.doubtnut.com/l/_gXffAQv17Mh3
https://dl.doubtnut.com/l/_psRSHqbPKp2M
https://dl.doubtnut.com/l/_ajj05rSN8XrJ
https://dl.doubtnut.com/l/_poBTY1SznYdf

8. Write the negation of the statement "Every

natural number is greater than zero"?

o Watch Video Solution

2
9. If 11 is the probability of an event.What is the

probability the event 'not A"

o Watch Video Solution



https://dl.doubtnut.com/l/_poBTY1SznYdf
https://dl.doubtnut.com/l/_332ybjLvuwId
https://dl.doubtnut.com/l/_y8LEuq4hLbnN

10. If U=1{1,2,3,4,5,6,7,8 09}, A =1{2 4,68
and B =1{2,3,5,7}. Verify that

(AUB)' = A’ N B’

o Watch Video Solution

1. If X and Y are two sets such that X UY has 50
elements, X has 28 elements and Y has 32 elements,

how many elements does X N'Y have ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Vyxn9wTf5Nwl
https://dl.doubtnut.com/l/_GcVORpgfPO7k

12. Let A={1,2} and B={3,4}. Write A x B. How many

subsets will A x B have? List them.

° Watch Video Solution

13. The minute hand of a watch is 1.5 cm long. How

far foes its tip move in 40 minutes?

° Watch Video Solution

14. Prove that : sin3z = 3sinz — 4sin’z

° Watch Video Solution



https://dl.doubtnut.com/l/_bBoZJnL9LXbk
https://dl.doubtnut.com/l/_VbYIruqEvxVV
https://dl.doubtnut.com/l/_fIgil2dD0iWl

b
a—Hf ,prove that z2 + ¢% = 1
a— b

15.1fx + i1y =

° Watch Video Solution

16. Solve the inequality(2z —5) > (1 — 5z) and
represent the solution graphically on the number

line.

o Watch Video Solution

17. By using the concept of equation of the line

prove that the three points(3,0),(-2,-2) and (8,2) are


https://dl.doubtnut.com/l/_fIgil2dD0iWl
https://dl.doubtnut.com/l/_zjRQPABVihxH
https://dl.doubtnut.com/l/_aS0uEKoI5aRB
https://dl.doubtnut.com/l/_MRWZ3MF1JDjp

collinear.

o Watch Video Solution

18. Find the equation of the line parallel to the line
3z — 4y + 2 =0 and passing through the point

(_2’3)

° Watch Video Solution

19. Find the ratio in which the y-z plane divides the
line segment formed by joining points (-2,4,7) and

(3,-5,8)

| e~ I


https://dl.doubtnut.com/l/_MRWZ3MF1JDjp
https://dl.doubtnut.com/l/_vWWT9WcdyMLW
https://dl.doubtnut.com/l/_1H8PPdx7a6Sd

| W Watch Video Solution

20. Compute the derivative of f(z) = sin® .

° Watch Video Solution

21. By giving counter example, show that the
following statement is false.

P:If nis an odd integer, then n is prime

o Watch Video Solution



https://dl.doubtnut.com/l/_1H8PPdx7a6Sd
https://dl.doubtnut.com/l/_ercw5Z0sVB0j
https://dl.doubtnut.com/l/_4kxhlvn5is61

22. The mean and variance of heights of XI students

are 162.6 cm and 127.69cm? respectively.Find the C.V.

° Watch Video Solution

23. A card is selected from a pack of 52

cards.Calculate the probability that the card(i)an ace.

° Watch Video Solution

24. A card is selected from a pack of 52 cards.Find

the probability that the card drawn is


https://dl.doubtnut.com/l/_Ga7zx4uMGIFa
https://dl.doubtnut.com/l/_8YBm1NQ0nntl
https://dl.doubtnut.com/l/_299RUfttN4EC

(i) an ace

(ii) black card

° Watch Video Solution

25.1n a survey of 400 students in a school, 100 were
listed as taking apple juice, 150 as taking orange
juice and 75 were listed as taking both apple as well
as orange juice. Find how many students were taking

neither apple juice nor orange juice.

o Watch Video Solution



https://dl.doubtnut.com/l/_299RUfttN4EC
https://dl.doubtnut.com/l/_RN4Ejt4asU7e

26. Let f(z) = 2> and g(z) = 2z + 1 be two real

values functions, find

(f +9)(x)

o Watch Video Solution

27.Let f(z) = z° and g(z) = 2z + 1 be two real

values functions, find

(f — 9)(x)

° Watch Video Solution



https://dl.doubtnut.com/l/_XTRxGsz165sQ
https://dl.doubtnut.com/l/_Rt7KC1FLbK48

28. Let f(z) = z* and g(z) = 2z + 1 be two real

functions. Find

(+ 9)(), (f — 9)(a), (9) (@), (i) (2).

g

o Watch Video Solution

29. Find the genral solution of sec’ 2z = 1 — tan 2z

° Watch Video Solution

1412

30. Express into polar form.

.

—1

° Watch Video Solution



https://dl.doubtnut.com/l/_R56ScA211HkK
https://dl.doubtnut.com/l/_e47g2LwWoZd3
https://dl.doubtnut.com/l/_MA8OuDoFSbfX

31.Solve:2z + /3 +1 =0

° Watch Video Solution

32.Find r,if 5P, = 6°P,

° Watch Video Solution

33. Find the co-efficient of z° in (z + 3)° ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MA8OuDoFSbfX
https://dl.doubtnut.com/l/_UClOpqUNcFQy
https://dl.doubtnut.com/l/_HvY5QHiQV35b
https://dl.doubtnut.com/l/_LWICkAF9E1jI

34. Insert five numbers between 8 and 26 such that

the resulting sequence is in AP.

° Watch Video Solution

35. The sum of first three terms of a G.P. is T and
their product is - 1. Find the common ratio and the

terms.

o Watch Video Solution

36. Find the equation of the parabola with vertex at

the origin axis along x- axis and pass-ing through


https://dl.doubtnut.com/l/_HaYU2fMrBeul
https://dl.doubtnut.com/l/_egxjimq6yUfv
https://dl.doubtnut.com/l/_QePHGIgVEzW0

the point (2, 3) also find its focus.

o Watch Video Solution

1
37. Differentiate:x + = from first principle.

° Watch Video Solution

38. Verify by the method of contradiction that /7 is

irrational number

o Watch Video Solution



https://dl.doubtnut.com/l/_QePHGIgVEzW0
https://dl.doubtnut.com/l/_7pvo2So3mZOq
https://dl.doubtnut.com/l/_O5xVlYZbdSrg

39. A bag contains 9 dics of which 4 are red,3 are
blue and 2 are yellow. The discs are similar in shape
and size. A disc is drawn at random from the bag.
Calculate the probability that it be

Red.

o Watch Video Solution

40. A bag contains 9 discs of which 4 are red 3 are
blue and 2 are yellow.The discs are similar in shape
and size.The disc is drawn at random from the
bag.Calculate the probability that the disc drawn will

be(ii)not blue



https://dl.doubtnut.com/l/_YMigI38jLguf
https://dl.doubtnut.com/l/_HCvVcgkFcTca

[ o Watch Video Solution

41. A bag contains 9 discs of which 4 are red 3 are
blue and 2 are yellow.The discs are similar in shape
and size.The disc is drawn at random from the
bag.Calculate the probability that the disc drawn will

be(iii) either red or blue.

o Watch Video Solution

and F are events such that

1 1
, P(F) = 3 and P(Eand F) = 3


https://dl.doubtnut.com/l/_HCvVcgkFcTca
https://dl.doubtnut.com/l/_RQMy5FquRubJ
https://dl.doubtnut.com/l/_gVUPf4nokD7L

Find

P(E or F).

° Watch Video Solution

43. If E and F are two events such that

1 1 1

Find P (not E and not F).

o Watch Video Solution

44. Draw the graph of the signum function write its

domain and range.



https://dl.doubtnut.com/l/_gVUPf4nokD7L
https://dl.doubtnut.com/l/_ubtPMfyi9DEK
https://dl.doubtnut.com/l/_F3iG1sbAjgsq

| W Watch Video Solution

45. Prove that
5T
cos 2z cos % — cos 3z cos (9x)/(2) = sin 5x sin -

o Watch Video Solution

46.10°" ' 4 1is divisible by 11.

° Watch Video Solution

47.Find the number of ways of selecting 9 balls from

6 red balls, 5 white balls and 5 blue balls such that


https://dl.doubtnut.com/l/_F3iG1sbAjgsq
https://dl.doubtnut.com/l/_uKIBaUfxbKA8
https://dl.doubtnut.com/l/_n95p6RFvsjhd
https://dl.doubtnut.com/l/_B7TPCpwlfR4L

the selection consists of 3 balls of each colour.

o Watch Video Solution

48. P(a,b) is the midpoint of the line segment

between axes,Show that the equation of the line is

Y

T
— 4+ = =2
a+b

° Watch Video Solution

49, Derive the formula for the distance between two
points(x1, Y1, 21) and (s, Yo, 29) and hence find

the distance between P(1,-3,4) and Q(-4,1,2).



https://dl.doubtnut.com/l/_B7TPCpwlfR4L
https://dl.doubtnut.com/l/_jisPtOGGF8Km
https://dl.doubtnut.com/l/_tRsjwHYOBOjp

| W Watch Video Solution

. sinx
50. Prove that lim
z—0 xI

— 1,where x is in radian

] sindx
and hence evaluate: lim — )
r—0 Sin2x

o Watch Video Solution

51. The mean and standard deviation of 100
observations were calculated as 40 and 51,
respectively by a student who took by mistake 50
instead of 40 for one observation. What are the

correct mean and standard deviation?

° Watch Video Solution



https://dl.doubtnut.com/l/_tRsjwHYOBOjp
https://dl.doubtnut.com/l/_xs5IStn6UXpq
https://dl.doubtnut.com/l/_Z5QsMuKZ02WZ

52. Derive the equation of the ellipse in the form

2 2
I
@2 v

2 T 1.

° Watch Video Solution

53. Find the derivative of

2 2

m—|—1_3a:—1

° Watch Video Solution

54. Find the sum to n terms of the series ,

1 1 1

?
1.2 + 2.3 + 3.4 o !



https://dl.doubtnut.com/l/_Z5QsMuKZ02WZ
https://dl.doubtnut.com/l/_DbxGw5s11vj5
https://dl.doubtnut.com/l/_gVoRwsjGWiJ7
https://dl.doubtnut.com/l/_hIjc0p9CTe54

° Watch Video Solution



https://dl.doubtnut.com/l/_hIjc0p9CTe54

